Sl. N regis	No. – site bills ster	31			Date Regis	- site bi	lls	310	12022	
Com	ompany Name: MRG				Site:			BR	5 V	
Name of Contractor Anor			ind j	YOH	n' ba					
Nature of work			uter	V V	sting		K/V	DFF	logue	
Wor	k done	From D			$\frac{1}{5}$		Date	1	01/2022	
SI. No.	Villa/Flat/block no	o. Qty	у.	Rate		Units	Amou		Contractors bill no	
1.	Drivenay ro	ad								
2.	CC WOOK									
3.	South side	82.2)	6.0	00	CFF	2293.26				
4.	West side	3	80.35	6.1	00	CPF	22	22·10		
5.	gate entrar	ne 5	38.19			CFF	3229.14			
6.	Eausting you	8 100	12.00	6	00	CHF	487	2.00		
7.	1	00.40	6.	00	CH	422	4.00			
8.	Cellor stilt #	P 800	20.00	6.00		CH	53	20.00		
9.		-						1		
10.										
11.	Т						20.20			
Bill 1	Bill required YES									
	Measurement & Erkequin									
	nate sheet:	🗆 Not r	equired		estimate sheet: PO/WO date:			□ Not enclosed		
PO/V	PO/WO no.				PO/V	vO date:				
Rem	arks :									
Appr	oved by Project Ma	nager	Appro	oved b	y Desi	gn Team	App	proved by	M.D.	
Date:	/st		Date:				Date	e:		
Sign:	1/2/22	Sign:				Sigr	n:			

Construction division. Advice for giving credit to contractors/suppliers.

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

				d and twenty only	wo Thousand four Hundre	Amount in words :- Twenty two Thousand four Hundred and twenty only	
22420.50	Total						
22420.50							
	5520.00	6.00	cft	920.00	Cellor stilt floor		
	4224.00	6.00	cft	704.00			
	4872.00	6.00	cft	812.00	Existing road		
	3229.14	6.00	cft	538.19	gate entrance		
	2282.10	6.00	cf	380.35	west side		
	2293.26	6.00	cft	382.21	South side	Driveway	
						4" CC Road laying with vdf	
Grand Total	Amount	Rate	Units	Quantity	Item Description	Item Head	S NO.
						31.01.2022	
						Anand water proofing work.	Contractor Name:
						Sobhanbabu.	Prepared By:
						Driveway road cc work	Work Description :
						BRGV	Project :
		Approved by				MRGV	Company Name:
							COTIMATE SHEET

-

.

S.No Item Head 1 4" CC Road laying with vdf Driveway										Date: 31.01.2022	Contractor Name: Anand water proofing work	Prepared By: Sobhanbabu.	Work Description : Driveway road cc work	Project : BRGV	Company Name: MRGV	MEASUREMENT SHEET
Item Description South side west side gate entrance Existing road Cellor stilt floor	Item Description South side west side gate entrance Existing road	Item Description South side west side gate entrance Existing road	Item Description South side west side gate entrance	Item Description South side west side	Item Description South side	Item Description	Item Description									-
20.75 27.25 28.00 32.00 92.00	20.75 27.25 28.00 32.00	20.75 27.25 28.00	20.75 27.25	20.75	20.00	39 00		Length	A							
29.00 22.00 10.00	29.00 22.00	29.00		19.75	18.33	18.50		Width	œ						-	
1.00		1 00	1.00	1.00	1.00	1.00		Height	c				T	ſ		
1.00	-	1.00	1.00	1.00	1.00	1.00		Nos	D							
920.00		704.00	812.00	538.19	380.35	382.21		Quantity	E=AXBXCXD						Approved by	
5	∼ ‡	cft	cft	cft	cft	cft		Units	-							
								Total Head	G=Sum of E							

.

Bill for Labour charges

Anand jyothi babu District : Madchal malkajgiri, Mandal : Keesara, H-No : 2-70 plot, Raji reddy nagar

Date:31-01-2022

In favor of :	Modi Reality genome valley
Project / Site :	Bloomdale Residency genome valley
Location :	Medchal Malkajgiri
Type of Work :	Water proofing work
Towards :	Labour charges

S No.	Description	Amount
1.	Brief description of work done : 4" CC Road laing with	
	VDF Driveway.	Rs 8938.2/-
	Total amount =22420.50/-	
	from date : 25-01-2022 to 31-01-2022	

Amount in words : Eight thousand nine hundred and thirty eight rupees only.

Sign: _____

Bill for Equipment Allowance

Anand jyothi babu District : Madchal malkajgiri, Mandal : Keesara, H-No : 2-70 plot, Raji reddy nagar

Date:31-01-2022

In favor of :	Modi Reality genome valley
Project / Site :	Bloomdale Residency genome valley
Location :	Medchal Malkajgiri
Type of Work :	Water proofing work

Towards : Allowance for Equipm	nent
---------------------------------------	------

S No.	Description	Amount
1.	Brief description of work done : 4" CC Road laing with	
	VDF Driveway.	Rs 8938.2/-
	Total amount =22420.50/-	
	from date : 25-01-2022 to 31-01-2022	

Amount in words : Eight thousand nine hundred and thirty eight rupees only.

Sign: _____

Allowance for Consumable

Anand jyothi babu District : Madchal malkajgiri, Mandal : Keesara, H-No : 2-70 plot, Raji reddy nagar

Date:31-01-2022

In favor of : Project / Site :	Modi Reality genome valley Bloomdale Residency genome valley
Location :	Medchal Malkajgiri
Type of Work •	Water proofing work

Type of work		water proofing work
Towards	:	Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done : 4" CC Road laing with	
	VDF Driveway.	Rs 4484.1/-
	Total amount =22420.50/-	
	from date : 25-01-2022 to 31-01-2022	

Amount in words : Four thousand four hundred and eighty four rupees only.

Sign: _____